CPS GAME CHAPTER REVIEW  Chapters 8, 9, & 10


1 Chemical energy is a form of _______ energy.

A
heat energy

B
kinetic energy

C
potential energy

D
motion energy

E
entropy

2 Which of the following are by-products of cellular respiration?

A
ATP, carbon dioxide, and water

B
glucose, carbon dioxide, and water

C
ATP and carbon dioxide

D
heat, carbon dioxide, and water

E
carbon dioxide and water

3  All of the following are TRUE EXCEPT

A
C4 and CAM plants grow better in hot, arid conditions than C3 plants

B
C4 and CAM plants use PEP carboxylase instead of rubisco to fix carbon

C
C4 plants have bundle sheath cells and CAM and C3 plants don't

D
CAM and C4 plants don't have rubisco

E
CAM plants close their stomata during the day and open them at night

4 The process in photosynthesis that most closely resembles chemiosmosis and oxidative phosphorylation in cell 
      respiration is

A
cyclic phosphorylation

B
non cyclic phosphorylation

C
ATP synthase coupling

D
Calvin cycle

E
acetyl CoA formation

5 The P680 chlorophyll has its "holes" filled by electrons from

A
RuBP

B
Photosystem I

C
water

D
NADPH

E
NADH

6 Which steps in cellular respiration make the most ATP?

A
glycolysis

B
Krebs cycle

C
Electron transport system

D
Calvin cycle

E
alcoholic fermentation

7 Muscle fatigue is caused when the process of fermentation in oxygen-depleted cells produces

A
RuBP

B
pyruvate

C
alcohol

D
lactic acid

E
citric acid
  8 Which of the following occurs in BOTH photosynthesis and respiration?

A
Calvin cycle

B
chemiosomosis

C
Citric acid cycle

D
glycolysis

E
photorespiration

9 Which of the following statements about enzymes is NOT TRUE?

A
Enzymes are almost always proteins

B
Enzyme activity is affected by changes in pH and temperature

C
Enzymes do not change the free energy of products

D
Enzymes increase the rate of reaction

E
Enzymes increase activation energy

10 If the free energy change of a reaction is NEGATIVE then the reaction

A
is nonspontaneous

B
is endothermic

C
can be completed if coupled to a reaction that provides energy

D
can be coupled to a reaction that requires energy

11 ALL of the following are true about competitive inhibitors EXCEPT

A
bind to the allosteric site of an enzyme

B
slow down an enzyme catalyzed reaction

C
bind to the active site of an enzyme

D
bind to the same site as the substrate

12 Which of the following is mismatched with its location? 

A
light independent reactions-chloroplast stroma

B
Calvin cycle-thylakoid space

C
Krebs cycle-mitochondrial matrix

D
electron transport chain-thylakoid membrane

E
electron transport chain-cristae membrane[image: image1.jpg]




13. Groups of photosynthetic pigments molecules situated in the thylakoid membrane are called

A
photosystems

B
carotenoids

A
chlorophyll

B
grana

C
proton pumps

14 In one type of enzyme regulation, the presence of the end product of a metabolic pathway

inhibits an enzyme that catalyzes an early step in the pathway. This is called

A
irreversible inhibition

B
competitive inhibition
[image: image2.jpg]Glycolysis Overview

Glucose

H H H OH

it

OHOHOHH OHH

2 AT L
2 ADP

04P—C—C—C—C—C—C—POy

H O
I_
0

NAD* PO,
3 NADH

OP—C—C—C—PO, 0OP—C—C—C—PO,

2 ADP: 2 ADP
2 ATP 3b. 2 ATP:
1 1
H;C—C—COOH H;C—C—COOH

Pyruvic acid




C
positive feedback

D
feedback inhibition

E
oxidation reduction

15
This diagram shows what happens during photosynthesis 
        in _____ plants

A
C4

B
C3

C
CAM
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16 Which of the following are TRUE about this reaction?

A
It can happen with or without oxygen

B
It happens in the mitochondrial matrix

C
It happens in eukaryotes but not prokaryotes

D
It happens in prokaryotes but not eukaryotes

E
It happens in animals but not plants
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17 When you did this lab, the purpose of catalase was








A to stop the reaction








B to break down KMNO4








C to inhibit the breakdown of H2O2








D to breakdown H2O2








E to turn off an allosteric enzyme



18 Which enzyme catalyses the first step in this pathway?

A
PEP carboxylase

B
Rubisco

C
acetyl Co A

D
ATP synthase

E
phosphofructokinase
19 What is a nonprotein "helper" of an enzyme molecule called?

A
assessory enzyme

B
allosteric group

C
coenzyme

D
functional group

E
enyzme activator
20 Which metallic cofactor is part of the chlorophyll molecule?

A
Fe

B
Mg

C
vitamin B

D
cytochrome C
21 Which kind of poison would most directly interfere with glycolysis?

A
An agent that reacts with oxygen and depletes its concentration in the cell

B
An agent that binds to pyruvate and inactivates it

C
An agent that closely mimics the structure of glucose but is not metabolized

D
An agent that reacts with NADH and oxidizes it to NAD+

E
An agent that blocks the passage of electrons along the electron transport chain

Answer Key :
metabolism chap rev
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1
C
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D
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D
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D
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B
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E
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A
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A
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A
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C
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